n(AUB) = n(A) +n(B)-[__|

n(ANB) =n(A) +n(B)-[__|

® n(A),n(B) @ n(A),n(AUB)

® n(An B),n(B) @ n(ANB),n(AUB)

® n(AUB),n(ANB)
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A B

® AnB=1{1,2,5}, AUB ={1,2,3,4,5,10}
@ ANB=1{1,2,3,4,5,10}, AUB = {1,2,5}
® AnB=1{1,2,3,4,5}, AUB=1{1,2,5,10}
@ ANB={3,4}, AUB = {10}

® AnB={1,2,5}, AUB : {1,2,5,10}



, B ol tiste] 4 ={3, 4, 8, 10}, B = {z | 2¥= 249] o5} &

@ {3, 4, 6, 8}

@ {3, 4, 6, 8, 10}

® {1, 2, 3, 4, 6, 8}

@ {1, 2, 3, 4, 6, 8, 10}

® {1, 2, 3, 4, 6, 8, 10, 12, 24}



4. Og F A Re AL

® {6,7} n {6} = {6}

@ {4, >}n{>, v, <} ={>}

® {s,0,u,t,h} N{n,o,r,t,h} = {o,t,h}
@ {zlz= 29 Wi} N{1,3,5,7,9} =&

® {zlz= 99 ) N {afoe 129 5} = {3}
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6. AMATFA={z|z69 %}, B={z]|z=89 %F},C={z|
zi= 129] oF} of st An(BUC) =7

® {4,8} @ {1,2,4,8} ® {1,2,6}

@ {1,2,3,6} ® {1,2,3,4,6,12}
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® AUB=A @ A-B=g ® ANnB=B

@ BcA ® B-A=0p



8. U= {cle 108t 22 A%} o £ HEYY A, B of Hhste]
A-B={2,57},ANB = {6,8}, A°NB° = {1,3,4) & W, Y& B &7

@ {6,8} @ {6,9} ® {6,7,8}
@ {6,8,9} ® {6,7,8,9}



E’r%‘?it’r Jol 2ol A n (U) = 35, n(A) = 20, n(B) =17, n (AN B)
04 o, Q0,0 44 ALE A= Fotoft,
U
A B O

@




10.

® A-B={a,t,m}

@ B-A={hp}
® (A_B)C = {baea h»kapﬂ",y}
@ (AUB)— (ANB) = {ae, hym,p, 1}

® A-B°={ek}




